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QUESTION 1

Which two statements are true about a job chain? (Choose two.)

A. A job chain can contain a nested chain of jobs.

B. The jobs in a job chain cannot have more than one dependency.

C. A job of the CHAIN type can be run using event-based or time-based schedules.

D. The jobs in a job chain can be executed only by using the events generated by the Scheduler

Correct Answer: AC

QUESTION 2

The BACKUP_TAPE_IO_SLAVES parameter is set to FALSE for the database instance. Which statement is true while
performing a tape backup in an RMAN session?

A. The tape I/O performed is asynchronous

B. The tape buffer is allocated from the System Global Area (SGA)

C. The tape buffer is allocated from the Program Global Area (PGA)

D. Oracle 1/0 uses an interrupt mechanism to determine when each I/O completes

Correct Answer: C

QUESTION 3
The DB_BLOCK_CHECKING parameter is set to FULL. What checks occur each time the DBWnprocess(es) writes?

A. The Oracle database will check all data blocks by going through the data on each block, making sure the data is self-
consistent.

B. The DBWn and the direct loader will calculate a checksum and store it in the cache header of every data block when
writing it to disk.

C. The Oracle database will check data blocks belonging to the SYSTEM tablespace only, by going through the data on
each block, making sure the data is self-consistent.

D. The Oracle database will check data blocks belonging to the SYSAUX tablespace only, by going through the data on
each block, making sure the data is self-consistent.

E. The Oracle database will check data blocks in the SYSTEM and SYSAUX tablespaces only, by going through the
data on each block, making sure the data is self-consistent.

Correct Answer: A
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QUESTION 4

You are managing a 24*7 database. The backup strategy for the database is to perform usermanagedbackups.

Identify two prerequisites to perform the backups. (Choose two.)

A. The database must be opened in restricted mode.

B. The database must be configured to run in ARCHIVELOG mode.

C. The tablespaces are required to be in backup mode before taking the backup.
D. The tablespaces are required to be in read-only mode before taking the backup

Correct Answer: BC

QUESTION 5

You are in the middle of a transaction updating a very important table. The machine on which a database was running

reboots because of power outage. This caused a database instance failure.

Which statement is true in this situation?

A. The online redo log files and archived redo log files are required to accomplish the recovery
B. The uncommitted transaction will be committed at the next startup of the database instance

C. The uncommitted transaction is rolled back automatically at the next opening of the database
D. The DBA has to perform the recovery on the database to recover the uncommitted transaction

Correct Answer: C
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